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Wir"wollen"folgendes"Problem"lösen:"Gegeben"sei"eine"Menge"von"Liniensegmenten"
in"der"Ebene."
Wir"wollen"nun"alle"möglichen"Schni@e"aller"Segmente"besAmmen."
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3"

Aufwand"von"n^2,"wenn"jede"Kante"jede"andere"schneidet."Das"muss"aber"nicht"
immer"so"sein."
Welche"geometrischen"EigenschaJen"kann"man"ausnutzen,"um"dies"zu"
beschleunigen?"
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SorAere"alle"Kanten"nach"yPBereich."Man"kann"nun"relaAv"schnell"ausschließen,"
welche"Kanten"sich"überhaupt"schneiden"könnten."

5"

„SweepPLinePAlgorithmus“"
"
SweepPLine"„läuJ“"über"den"Raum,"der"die"Segmente"enthält."
"
AkAviere"Kante"eines"Segments,"wenn"die"SweepPLine"geschni@en"wird."
Sobald"die"SweepPLine"nicht"mehr"geschni@en"wird,"werden"diese"Kanten"
wieder"deakAviert."
Man"muss"dann"nur"Schni@e"zwischen"akAvierten"Kanten"berechnet"werden."
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Erlaube"als"Event"auch"den"Schni@"zweier"Kanten."
Nur"benachbarte"Kanten"können"sich"als"nächstes"schneiden."
Bei"einem"Schni@"werden"die"NachbarschaJsbeziehungen"zwischen"den"betroffenen"
Segmenten"getauscht."
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Drei"Arten"von"Events:"„Anfang“,"..."
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..."„Schni@“"und..."
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..."„Ende“."

13"

Events,"die"weiter"oben"liegen,"werden"früher"bearbeitet."Danach"gilt"SorAerung"von"
links"nach"rechts."
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Man"kann"zum"Beispiel"einen"RotPSchwarzPBaum"als"Datenstruktur"für"die"Events"
nehmen."
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Ende"des"Vorlesungsstoffs."
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